Use order of operations with
directed numbers

0 Tom works out 2 + 5 x 4 and says the answer is 28

a) What mistake has Tom made?

He han done Yo addiblon puirsk.

b) What is the correct answer?

o Work out the calculations without a calculator.

22

a) 8:4+3=| 5 f) 30+6x11-11=| 55
b) 5+4(10+2)=| 10 9) 12+(19+2)+3=| |9
Q 5+10:2=| |0 h) 30:10+3x2=| 9

d 8+2+5x5=| 99 i) 20+22+(19-12)=| |2
e) 5+3x15+2=| 52 ) (52+45)+5x8=| |12

o a) Circle the calculation that does not find the unknown number in the

bar model.

20
5 5 8 ?
20-8-2x5 20-(5x2+8)
(20-2x5+8) 20-2x5-8

b) Write four different number sentences that find the unknown in this

bar model.

35

5-3. 35— (2>9+Y)

35 — (a+9+Y)

35-2x9 -4

35-L-2=x9

a Dani is answering this question.

1M1-12+-3

Here is her working out.

12+ -3=-4
M—4=7

Explain the mistake that Dani has made.

She han Lsnored tho

sulobrachion  #noly Otkreodbj Chore

b Showd be 1-(-0)

What is the correct answer?

|5

What could Dani use in the future so that she doesn’t make the same

mistake again?
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o Complete the calculations.

a) 35+8+-2=

b) —2-72=

) (-8)2-5x3-17=

d 6+-2+-1x9=

e) 1M-2x-7+4=

o Fill in the missing numbers.

a) 6+ x2=20

b) -2x5- +4=-12

Can you find more than one solution for any of the calculations?

35+ 8

f)

g) -(2-7)y=

h) 8-5x3-17=

i) 6+(-2+-1)x9=

) 11-2(-7+4)=

c)42=( y+13x2

d -3=17-

x 3+

O
Q

input output O
4 |=»| =4 |=»| -7 [-»| x5 |[-»| -30

Tick the correct number sentence for the function machine.

4+4-7x5=-30 (4+4)—-({7 x5 =-30

4+4-7)x5=-30 (4+4-7)x5=,30

Evaluate these expressions whena=-4, b =6, c=3 and d =-8

a) d+ 2(c-a) b) ¢+ ad

Insert brackets into the calculations to make the answers correct.

a) 5-(20+2)+ 11 =3 b) 21 =5+ 4 x(15 - 11

Use these numbers, operations and brackets to make each of the numbers. o

You can use each one once only per part. You do not need to use
them all.

2 3 4 5 + - X = ( )
a) 13 < -9
b) -1 d) 0

Can you find more than one answer for each number?
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